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1) ROEIFEAERELTSL, (4R X58H)

1 { x—3y=—12
—2x+y=-—16

2) { y=x-1
y=4x—10

3) { 1.8x+1. 3y=8.7
0.9x—1.2y=9.9

{ 0. 5x+0. 6y=1.7
5) X y_
2 t3=1.25
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2) ROFIAFEXEMEGSL,. (4R X58)

1 { 4x+y=13
—3x—y=-10

2) { y=x=2
3y=x—4

3) { x+0. 5y=—1.5
0. 3x—0. 4y=-—1

4) { 2(x+2y)—(@x—y)=19
4(2x—y)+3(x+y)=—47

(4x+y):(Bx—y)=7:11
) {

X—y X+y __
5 t7 =33
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3) ROFAFREXZEMEGSL. (4R X58)

1 { x+y=—4
2x+3y=—2

2) { 2y=x-—7
2y=—x+15

3) { 0. 4(x+2)+0. 2(y—3)=4. 2
0. 5(x—3)—0. 3(y+1)=1
2x+5y , 2x+y __ 13
4 3 TTa 1
1. 2x+0. 5y=-—38. 3
5) 4 6

Xx+y—1__ x—y+9 =—4
(4x+5)+(3y—2)=-20
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4) ROFIAFEXZMBEGS. (AR X58)

1 { 5x—2y=2
—15x+4y=—5

2) { X=Y—5
x=3y+5

3) { 1. 4(x+y)—0. 7(x—y)=—4. 2
1. 2(x—y)+0. 3(x+y)=23. 4

4) { 2(5x—6y)+3(4x—2y)=—12
0. 4(2x+y)—0. 5(x—2y)=13

5) { 4(x+6y)—3(2x+4y)=34
(6x+y):(4x—y)=9:1
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5) ROFIAFEXZMEGSL,. (4R X58)

1 { 5x+2y=42
4x—3y=6

2) { y=10x—8
y=5x—5
3) { 6. 3x+1.9y=34.6
5. 3x—0. 8y=41. 1

4 { 2x—by=-25
—7x—5y=20

5) { 2(x—4y)—4(3x—y)=9(x—y)+82

3x+y—(x—2y)=—6x+y—14

=}
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1) AE—MRE (45 X58&) A H
1) x=12, y=8 2) x=3,y=2 3) x=7,y=-—3

4) x=—4, y=1 5) x=1,y=2

2) KE—RE (AR X58) A =]
1) x=3, y=1 2) x=1,y=—1 3) x=—-2, y=1
4) x=—4,y=3 5) x=6, y=-3

3) KEE—#E (4R X58) A A
1) x=—10,y=6 2) x=11,y=2 3) x=8, y=4
4) x=—4,y=3 5) x=—2,y=-5

4) KEE—#RE (4R X58) A =]
1) x=5y=—;  2) x=—10,y=—5  3) x=12, y=—6
4) x=6, y=8 5) x=1, y=3

5) £IE—MRE (45 X58) H =]
1) x=6, y=6 2) x=g, y=—2 3) x=7,y=-5

4) x=-5, y=3 5) x=-3, y=5



